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HRI/RFEAN: itertools.product(a,b)  (HEFIFeH

import itertools

a= (1, 2)

b = (;A;7 ’B’, ’C’, ’D’)
c = itertools.product(a,b)

for i in c:




print (i,end=",")

(1AL B O, DR, A2 B2, O, D)
FetH: itertools.combinationsCABCDEFGH’, 2) (4G 7fH)

import itertools
countNum = 0
for i in itertools.combinations(’ABCDEFGH’, 2):

print(’’.join (i) ,end=" ")
countNum += 1

print (’\n’)

print ("countNum=:", countNum)

AB AC AD AE AF AG AH BC BD BE BF BG BH CD CE CF CG CH DE DF DG DH EF EG
EH FG FH GH

countNum=: 28

(a+b?=(a-a+a-b+b-a+b-b)(a+b)
= (a® + 2ab + b*)(a + b)
=a-a-a+a-b-a+b-a-a+b-b-a
+a-a-b+a-b-b+b-a-b+b-b-b
=a® + 3a®b + 3ab® + b*
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A= as® — 2bsr + cr?
B = —aqs +b(qr + sp) — cpr  XBEREIEL T 2B
C = aq® — 2bpq + cp?
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B? — AC = (ps — qr)*(b* — ac)
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